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Legislation is concerned with... What is the decimal value of the What is a syntax error?
hexadecimal number 2A2

What are the features of a data In an operating system, whatis the | When programming, the process of
packet? kernele storing data in a variable

(for example x = 10)

is known as...
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‘32 6 A Day LITE January 2nd

Legislation is concerned with... What is the decimal value of the What is a syntax errore
hexadecimal number 2A?2

When source code has
not been written in

16 1 .
The Law » " accordance with the
rules of the programming
language.
32+10=42 guag
What are the features of a data In an operating system, whatis the | When programming, the process of
packete kernel? storing data in a variable
(for example x = 10)
is known as...
Data packets will contain: This is arguably the most important
piece of software, at the heart of the
Data operating system, which enables

hardware and the system processes ASSIQ nme nlll

Destination address to communicate

Return address
Sequence number
Error check digit (checksum)
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